math8_04_12_examples_notes.gwb - 1/8 - Wed Nov 13 2019 17:47:14

math8_04_12_examples_notes.gwb - 2/8 - Wed Nov 13 2019 17:49:05

red by
mxw:..s.m%

Which equation matches this graph?

a —x+y=4
b. —x+yp=5

N =

c. —x+y
d. —x+y=
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Which equation matches this graph?

a x+y=1
b, x+y=-1
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Which equation matches this graph?

a —x+y=—4
b. —x+y=-8

c. x+y=-5
d. —x+y=-3

red by
mxw:..s.m%

Which x value in the table is incorrect for the following equation: x+y=9

X

.\f_

5

3

2

O 1] O =

-1
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Which x value in the table is incorrect for the following equation: x+y=—4

X

.\1

1
2
4
6

P
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Which x value in the table is incorrect for the following equation: 3x+y =—-11

x y
8 -35
10 —41
13 -50
14 =52
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Which x value in the table is incorrect for the following equation: 2x+y=-3

X

.\1

2

7

4

-12

7

-17

10

-23
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Which y value in the table is incorrect for the following equation: —3x+y=—14

x y
9 13
12 22
15 31
18 39






